Moi ban dang ky tai khoan (chi 100k/ nam) tai: Giaoandethitienganh.info dé chd déng tu tai rat nhiéu tai khac
liéu khi can!

Question 2.
A. concern B. colonial C. crowded D. convenient
Mark the letter A, B, C, or D to indicate the word that differs from the other three in the
position of the primary stress in each of the following questions.
Question 3.
A. urban B. pollute C. crowded D. high-rise
Question 4.
A. affordable B. reliable C. colonial D. residential
Mark the letter A, B, C, or D to indicate the correct answer to each of the following

questions.

Question 5.

There are plenty of activities available in the city, from parks to theatres.
A. resident B. housing C. leisure D. convenience

Question 6.

The city plans to its public transportation system next year.

A. rely B. afford C. seek D. expand
Question 7.

Living downtown is because everything is within walking distance.
A. convenient B. reliable C. colonial D. crowded
Question 8.
The city is filled with buildings that define its skyline.
A. affordable B. high-rise C. reliable D. urban
Question 9.
There's a(n) store on every corner, making it easy to buy essentials.
A. resident B. convenience C. urbanisation D. concern
Question 10.
The city has many beautiful constructions that attract tourists.
A. convenient B. gradual C. reliable D. colonial

Question 11.
has rapidly transformed those small towns into bustling cities.
A. Convenience B. Unemployment C. Urbanisation D. Infrastructure
Question 12.

Housing is getting in the central areas.
A. more and most expensive B. more expensive and more expensive
C. the more expensive D. more and more expensive
Question 13.
The quality of life significantly since the new infrastructure was built.
A. will improve B. is improving C. improves D. has improved
Question 14.
The higher the unemployment rate is, people move to urban areas seeking jobs.
A. the more B. the most C. much more D. more

Mark the letter A, B, C, or D to indicate the word(s) OPPOSITE in meaning to the

underlined bold word(s) in each of the following questions.

Question 15.

Many people prefer urban living because of career opportunities and easy access to amenities.
A. reliable B. foreign C. colonial D. rural

Question 16.



Roads are always crowded during rush hour, causing traffic jams.

A. empty B. rapid C. high-rise D. hurried
Read the following notice and mark the letter A, B, C, or D to indicate the correct option
that best fits each of the numbered blanks.

Notice: Parking Garage Upgrade

Dear Residents,
The building management kindly informs you of the following:

® The (17) upgradation starts from Monday to Sunday next week.
® (18) should avoid approaching the construction area during the project period.
«€€€€ Vehicles are recommended (19) in the neighbouring buildings' garage.

Thank you for your cooperation.

Question 17.
A. infrastructure B. unemployment C. convenience D. housing

Question 18.
A. Employees B. Concerns C. Residents D. Colonists

Question 19.
A. to parking B. to be parked C. being parked D. parked

Mark the letter A, B, C, or D to indicate the correct arrangement of the sentence to make a

meaningful paragraph in the following question.

Question 20.

a. Additionally, urban areas attract large companies, leading to more jobs in various sectors.

b. Moreover, improved infrastructure in cities supports economic growth, which in turn generates

more employment.

c. Firstly, as cities expand, new businesses open, offering diverse employment options.

d. However, the competition for jobs can be intense, making it essential for individuals to acquire

relevant skills.

e. Despite this, the potential for career advancement is greater in urban settings.

f. Urbanisation creates numerous job opportunities.

g. In conclusion, urbanisation significantly boosts job prospects, benefiting both individuals and

the economy.
A.f-c-a-b-d-e-g
C.f-e—-a-d-g-c-b

Read the following passage and mark the letter A, B, C, or D to choose the word or phrase
that best fits each of the numbered blanks from 21 to 25.
Singapore's urbanisation

In 2018, the United Nations announced that Singapore was completely urbanised as 100 per cent
of its population is defined as “urban”. Urbanisation has brought both (21) and
disadvantages to the small city-state. On the one hand, Singapore (22) a lot of skilled
workers from many other countries to ensure the economy continues to grow. Migrants have also
helped create a more culturally diverse society in Singapore.
On the other hand, urbanisation has caused some serious problems such as deforestation,
overpopulation, and waste (23) . Since it was first colonised by the British in 1819 and
Singapore was formally founded, over 95 per cent of its vegetation has been cleared. In terms of
population (24) , in many parts of Singapore, there are over 20,000 people living per
square kilometre. Waste treatment used to be another problem in Singapore. (25) , thanks
to the development of technology, this problem has been solved. Singapore has even become a
leader in urban waste management.

(Adapted from Global Success Workbook 12)



Question 21.

A. features B. benefits C. impacts D. concerns
Question 22.

A. was attracting B. will attract C. attracts D. has attracted
Question 23.

A. management B. leadership C. pollution D. structure

Question 24.
A. workload B. density C. usage D. product
Question 25.
A. Although B. In conclusion C. However D. Therefore
Read the following passage and mark the letter A, B, C, or D to indicate the correct answer
to each of the questions from 26 to 30.
An Binh used to be a small village on the bank of the Red River. Local people mainly worked on
farms and grew their own food. Public transport was not very convenient at that time. Villagers
just went around the local area by bicycle or on foot. The only way for them to travel to another
town or city was to cross the river by boat, and then get on the train.
Their life, however, started to change in the year 2000. A bridge across the Red River was built,
connecting the village with one of the biggest motorways in the country. Since then, many local
people have migrated to big cities. The village has also attracted people to come and start a
business here. In addition, a new industrial zone has been developed. Local people and residents
of neighbouring villages have started working in the industrial zone's factories. The
infrastructure has also been improved. Clean water facilities and drainage systems have been
installed. A number of high-rise buildings have been built. Supermarkets, hospitals, and many
other facilities have also been provided.
The village has now grown into an urbanised town with a population of over 20,000 people. Life
has become easier for its residents. However, there are now some new problems. Many young
people are unemployed because they lack the necessary knowledge and skills to work in the
factories. In addition, the town is getting more and more crowded. As a result, pollution has
increased and has sparked concern among local residents and the authorities. Despite all these
concerns, the lives of An Binh's residents have generally become much better.
(Adapted from Global Success Workbook 12)
Question 26.
Which can best serve as the title of the passage?
A. Urbanising the Countryside B. Moving to Bigger Cities
C. Modernising the Infrastructure D. Caring for the Environment
Question 27.
The word neighbouring in paragraph 2 is closest in meaning to .
A. colonial B. faraway C. reliable D. adjacent
Question 28.
According to the passage, each of the following is one of the advantages of urbanisation to An
Binh Village, EXCEPT
A. better transportation B. increasing population
C. improved infrastructure D. new job opportunities
Question 29.
The word they in paragraph 3 refers to .
A. the village’s residents B. over 20,000 people
C. many young people D. some new problems
Question 30.
Which of the following is NOT true according to the passage?
A. Overall, the quality of life in An Binh village has improved despite some issues.
B. During the process of urbanisation, the village's infrastructure has greatly improved.
C. Many people from urban areas have moved to An Binh village since 2000.



D. In the past, An Binh villagers had to travel with difficulty to reach other regions.

HUONG DAN GIAI CHI TIET

Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the
other three in pronunciation in each of the following questions.
Question 1.

A. urban B. afford C. expand D. reliable
Giadi thich
A. urban /'3:ban/ (adj): do thi
B. afford /3'fo:d/ (v): da khé nang chi tra
C. expand /1k 'spend/ (v): m@& rong
D. reliable /r1'la1abl/ (adj): dang tin cay
Dap an C c6 “a” phat am la /&/, con lai phat am la /a/.
— Chon dap an C
Question 2.

A. concern B. colonial C. crowded D. convenient
Giai thich
A. concern /kan’'s3:n/ (n): moi quan tam
B. colonial /ka'lswnial/ (adj): thudc thuc dan
C. crowded /'krasdid/ (adj): dong dtc
D. convenient /kan vi:niant/ (adj): thuan tién
Dap an A c6 “c” phat am la /s/, con lai phat am la /k/.
— Chon dap an A
Mark the letter A, B, C, or D to indicate the word that differs from the other three in the
position of the primary stress in each of the following questions.
Question 3.

A. urban B. pollute C. crowded D. high-rise
Gidi thich
A. urban /'3:ban/ (adj): do thi
B. pollute /pa’lu:t/ (v): 6 nhiém
C. crowded / krasdid/ (adj): dong duc
D. high-rise /'har rarz/ (adj): cao tang
Pap an B c6 trong am roi vao am tiét thit 2, cac dap an con lai trong am roi vao am tiét thit nhat.
— Chon dap an B
Question 4.

A. affordable B. reliable C. colonial D. residential
Giai thich
A. affordable /3 f5:dabl/ (adj): gia ca phdi chdang
B. reliable /r1'laiabl/ (adj): dang tin cay
C. colonial /ka'lasnial/ (adj): thudc thue dan
D. residential / rezi'denfl/ (adj): thudc vé cw dan
Béap an D c6 trong am roi vao am tiét thit 3, cac dap an con lai trong am roi vao am tiét thit 2.
— Chon dap an D
Mark the letter A, B, C, or D to indicate the correct answer to each of the following
questions.
Question 5.
There are plenty of activities available in the city, from parks to theatres.

A. resident B. housing C. leisure D. convenience
Giadi thich
Kién thirc tir vieng:
A. resident (n): cu dan, ngwoi dan
B. housing (n): nha &, cho &



C. leisure (n): thoi gian ranh roi; giai tri

D. convenience (n): sy thuan tién, tién 1gi

Tam dich: Co rat nhiéu hoat dong giai tri c6 san trong thanh pho, tir cong vién dén nha hat.
— Chon dap an C

Question 6.

The city plans to its public transportation system next year.
A. rely B. afford C. seek D. expand

Giadi thich

Kién thirc tix vieng:

A. rely (v): tin cdy, dua vao

B. afford (v): di kha nang chi tra

C. seek (v): tim kiém

D. expand (v): md rong

Tam dich: Thanh pho c6 ké hoach mé rong hé thong giao thong cong cdng vao nam tai.
— Chon dap an D

Question 7.

Living downtown is because everything is within walking distance.
A. convenient B. reliable C. colonial D. crowded

Gidi thich

Kién thirc tir vieng:

A. convenient (adj): thuan tién, tién lgi

B. reliable (adj): dang tin cay

C. colonial (adj): thudc thudc dia

D. crowded (adj): dong duc

Tam dich: Song & trung tam thanh pho rat thuén tién vi moi thit déu nam trong khoang cach di
bo.

— Chon dap an A

Question 8.

The city is filled with buildings that define its skyline.
A. affordable B. high-rise C. reliable D. urban

Giai thich

Kién thitc tiv virng:

A. affordable (adj): gia ca phdi chang

B. high-rise (adj): cao tang, choc troi

C. reliable (adj): dang tin cay

D. urban (adj): do thi, thanh thi

Tam dich: Thanh phé gom nhiéu toa nha cao tang lam thdy rd hinh dang trén nén troi.
— Chon dap an B

Question 9.

There's a(n) store on every corner, making it easy to buy essentials.
A. resident B. convenience C. urbanisation D. concern

Giai thich

Kién thirc tix vieng:

A. resident (n): cw dan, nguoi dan
B. convenience (n): sy thuan tién, tién 1gi
C. urbanisation (n): sw do thi hoa
D. concern (n): moi quan tam, sy quan tam
Tam dich: C6 mot cira hang tién 1gi & moi goc, gitup ban dé dang mua nhu yéu pham.
— Chon dap an B
Question 10.
The city has many beautiful constructions that attract tourists.
A. convenient B. gradual C. reliable D. colonial



Giai thich
Kién thirc tir vieng:
A. convenient (adj): thuan tién, tien lgi
B. gradual (adj): dan dan, tr tir
C. reliable (adj): dang tin cay
D. colonial (adj): thudc dia
Tam dich: Thanh pho c6 nhiéu cong trinh kién tric thudc dia dep thu hit khach du lich.
— Chon dap an D
Question 11.
has rapidly transformed those small towns into bustling cities.

A. Convenience B. Unemployment C. Urbanisation D. Infrastructure
Gidi thich
Kién thirc tir vieng:
A. Convenience (n): Sy thuan tién
B. Unemployment (n): Tinh trang that nghiép
C. Urbanisation (n): St doé thi hoa
D. Infrastructure (n): Co s& ha tang
Tam dich: D6 thi héa da nhanh chéng bién nhitng thi tran nhé d6 thanh nhitng thanh phdé nhon
nhip.
— Chon dap an C
Question 12.

Housing is getting in the central areas.
A. more and most expensive B. more expensive and more expensive
C. the more expensive D. more and more expensive

Gidi thich

Kién thirc ngir phap:

Cau truc ‘be getting + more and more + long adj’: ngay cang tr@ nén nhw thé nao
Tam dich: Nha & ngay cang dat dé & cac khu vure trung tam.

— Chon dap an D

Question 13.

The quality of life significantly since the new infrastructure was built.
A. will improve B. is improving C. improves D. has improved

Giai thich

Kién thirc ngir phap:

Phia sau c6 ‘since + ménh dé QKD’ nén phia trirdc chia dong tir & thi HTHT.

Tam dich: Chat lvgng cudc song da dugce cdi thién dang ké ké tir khi co s& ha tang mdi duoc xay
dung.

— Chon dap an D

Question 14.

The higher the unemployment rate is, people move to urban areas seeking jobs.
A. the more B. the most C. much more D. more

Giai thich

Kién thirc ngir phap:

So sanh cang cang:

The + so sanh hon + S + V, the + so sanh hon + S + V.

Tam dich: Ty 1€ that nghiép cang cao, cang cé nhiéu ngudi di chuyén dén cac khu vuc thanh thi
tim ki€ém viéc lam.

— Chon dap an A

Mark the letter A, B, C, or D to indicate the word(s) OPPOSITE in meaning to the
underlined bold word(s) in each of the following questions.

Question 15.

Many people prefer urban living because of career opportunities and easy access to amenities.




A. reliable B. foreign C. colonial D. rural
Gidi thich
A. reliable (adj): dang tin cay
B. foreign (adj): nwéc ngoai
C. colonial (adj): thudc dia
D. rural (adj): nong thon
urban (adj): thanh thi >< rural
Tam dich: Nhiéu nguoi thich cudc song do thi vi co hdi nghé nghiép va dé dang tiép can véi cac
tién nghi.
— Chon dap an D
Question 16.
Roads are always crowded during rush hour, causing traffic jams.
A. empty B. rapid C. high-rise D. hurried
Giai thich
A. empty (adj): trong rong, trong khong
B. rapid (adj): nhanh chéng
C. high-rise (adj): cao tang, choc troi
D. hurried (adj): vGi va, hoi ha
crowded (adj): dong duc>< empty
Tam dich: Puwong sa luén dong duc trong gid cao diém, gay un tac giao thong.
— Chon dap an A
Read the following notice and mark the letter A, B, C, or D to indicate the correct option
that best fits each of the numbered blanks.

Notice: Parking Garage Upgrade
Dear Residents,
The building management kindly informs you of the following:

® The (17) upgradation starts from Monday to Sunday next week.
® (18) should avoid approaching the construction area during the project period.
«€€€€ Vehicles are recommended (19) in the neighbouring buildings' garage.

Thank you for your cooperation.

Question 17.
A. infrastructure B. unemployment C. convenience D. housing
Giadi thich:

Tam dich

Notice: Parking Garage Upgrade N A " < s
T e — Thong bao: Nang cap nha dé xe

a1 . . inh gui cu dan,
The bu1ldlpg ‘rnanagement kindly informs you of gan L 7 OR300 [ T e
the following:

. . » COng tac nang cap co s@ ha tang sé bat dau
» The infrastructure upgradation starts from _-ong tacnang cap Co S0 1d tang
t’ thit Hai dén Chua nhat tuan sau.
Monday to Sunday next week.

* Residents should avoid approaching the p AR EEIR el (el (515 IR LI Vgl G B

. . . . cong trong sudt thoi gian dy an.
construction area during the project period. . Khavén nehi cu dan db xe tai nha dé xe
* Vehicles are recommended to be parked in the yen ngh :

neighbouring buildings' garage fia cac toa nha lan ¢dn,
& & 85 garage. Cam on sy hgp tac ctia quy cu dan.
Thank you for your cooperation.

A. infrastructure (n): co s@ ha tang
B. unemployment (n): tinh trang that nghiép
C. convenience (n): sy thuan tién, tién 1gi



D. housing (n): nha &, cho &

Tam dich: The infrastructure upgradation starts from Monday to Sunday next week. (Cong tac
nang cap co so ha tang sé bat dau tir thit Hai dén Chu nhat tuan sau.)

— Chon dap an A
Question 18.

A. Employees
Giai thich
A. employee (n): nhan vién
B. concern (n): mdi quan tam
C. resident (n): cv dan, nguoi dan
D. colonist (n): thie dan

B. Concerns

C. Residents

D. Colonists

Tam dich: Residents should avoid approaching the construction area during the project period.
(Cu dan nén tranh tiép can khu virc dang thi cong trong su6t thoi gian dw an.)

— Chon dap an C
Question 19.

A. to parking
Giadi thich

B. to be parked

C. being parked

D. parked

Cau tric bi dong vdi recommend: be recommended to V.

Vi ¢ day mang nghia bi dong (dwgc dau), nén ta dung bi dong cua to V la to be PII.

Tam dich: Vehicles are recommended to be parked in the neighbouring buildings' garage.
(Khuyén nghi cu dan do xe tai nha dé xe ctia cac toa nha lan can.)

— Chon dap an B

Mark the letter A, B, C, or D to indicate the correct arrangement of the sentence to make a
meaningful paragraph in the following question.

Question 20.

a. Additionally, urban areas attract large companies, leading to more jobs in various sectors.
b. Moreover, improved infrastructure in cities supports economic growth, which in turn generates

more employment.

c. Firstly, as cities expand, new businesses open, offering diverse employment options.
d. However, the competition for jobs can be intense, making it essential for individuals to acquire

relevant skills.

e. Despite this, the potential for career advancement is greater in urban settings.
f. Urbanisation creates numerous job opportunities.
g. In conclusion, urbanisation significantly boosts job prospects, benefiting both individuals and

the economy.

A.f-c-a-b-d-e-g B.f-d-a-b-c-e-g
C.f-e—-a-d-g-c-b D.b-c-g-d-e—a-f
Giai thich
Tam dich

Urbanisation creates numerous job
opportunities. Firstly, as cities expand, new
businesses open, offering diverse employment
options. Additionally, urban areas attract large
companies, leading to more jobs in various
sectors. Moreover, improved infrastructure in
cities supports economic growth, which in turn
generates more employment. However, the
competition for jobs can be intense, making it
essential for individuals to acquire relevant
skills. Despite this, the potential for career
advancement is greater in urban settings. In
conclusion, urbanisation significantly boosts

DO thi hda tao ra nhiéu co hoi viéc lam. Truéc
hét, khi cac thanh phé ma rong, cac doanh
nghiép m@i ma ra, cung cap cac liya chon viéc
lam da dang. Ngoai ra, cac khu vuc do thi thu
hiit cac cong ty 16n, dan dén nhiéu cong viéc
hon trong cac linh vic khac nhau. Hon nita, co
5@ ha tang dugc céi thién trong cac thanh pho
ho tro tang truedng kinh té, tir d6 tao ra nhiéu
viéc lam hon. Tuy nhién, sy canh tranh vé viéc
lam c6 thé rat gay gat, diéu nay doi hoi moi ca
nhan phdi cé cac k§ nang phu hgp. Mdc du
vay, tiém nang thang tién trong sy nghiép lai

cao hon & cac moi trwong do thi. Tém lai, do




job prospects, benefiting both individuals and
the economy.

thi héa tang cuong dang ké trién vong viéc
lam, mang lai lgi ich cho ca ca nhan va nén
kinh té.

Read the following passage and mark the letter A, B, C, or D to choose the word or phrase
that best fits each of the numbered blanks from 21 to 25.

Singapore's urbanisation
In 2018, the United Nations announced that Singapore was completely urbanised as 100 per cent

of its population is defined as “urban”. Urbanisation has brought both (21)
disadvantages to the small city-state. On the one hand, Singapore (22)

and
a lot of skilled

workers from many other countries to ensure the economy continues to grow. Migrants have also
helped create a more culturally diverse society in Singapore.
On the other hand, urbanisation has caused some serious problems such as deforestation,

overpopulation, and waste (23)

. Since it was first colonised by the British in 1819 and

Singapore was formally founded, over 95 per cent of its vegetation has been cleared. In terms of

population (24)

square kilometre. Waste treatment used to be another problem in Singapore. (25)

, in many parts of Singapore, there are over 20,000 people living per

, thanks

to the development of technology, this problem has been solved. Singapore has even become a

leader in urban waste management.

Question 21.
A. features
Giai thich:

B. benefits C. impacts

(Adapted from Global Success Workbook 12)

D. concerns

Tam dich

Singapore's urbanisation

In 2018, the United Nations announced that
Singapore was completely urbanised as 100
per cent of its population is defined as “urban”.
Urbanisation has brought both benefits and
disadvantages to the small city-state. On the
one hand, Singapore has attracted a lot of
skilled workers from many other countries to
ensure the economy continues to grow.
Migrants have also helped create a more
culturally diverse society in Singapore.

0 thi héa ¢ Singapore

am 2018, Lién Hgp Quoc tuyén bo rang
Singapore da hoan toan do thi héa véi 100%

an s6 dugc dinh nghia la "do thi". D6 thi hda

a mang lai ca lgi ich va nhwgc diém cho quoc

ia thanh pho nho nay. M6t mat, Singapore da
hu hit rat nhiéu lao dong c6 tay nghé tir nhiéu
udc gia khac nhau dé ddm bao nén kinh té tiép
uc phat trién. Nguwdoi nhap cu ciing da giip tao
a mOt xa hoi da van hdéa hon ¢ Singapore.

On the other hand, urbanisation has caused
some serious problems such as deforestation,
overpopulation, and waste management. Since
it was first colonised by the British in 1819
and Singapore was formally founded, over 95
per cent of its vegetation has been cleared. In
terms of population density, in many parts of
Singapore, there are over 20,000 people living
per square kilometre. Waste treatment used to
be another problem in Singapore. However,
thanks to the development of technology, this
problem has been solved. Singapore has even
become a leader in urban waste management.

IMit khac, d6 thi héa di gy ra mot s6 van dé
nghiém trong nhw pha rirng, qua tai dan s6 va
qudn ly chat thai. K€ tir khi bi thyc dan Anh
chiém dong vao nam 1819 va Singapore duwgc
thanh 1ap chinh thitc, hon 95% tham thyc vat
ctia n6 da bi x6a sach. Vé mat do dan so, &
nhiéu khu virc caa Singapore, c6 hon 20.000
nguwdi song trén moi kilomét vuong. Xt 1y chat
thai tirng la mot van dé khac & Singapore. Tuy
nhién, nho sy phat trién ctia cong nghé, van dé
nay da duoc giai quyét. Singapore tham chi con
trd thanh nwdc dan dau trong linh virc quan ly
chat thai do thi.

A. feature (n): dac diém, tinh nang
B. benefit (n): 1gi ich
C. impact (n): tac dong, anh hudng



D. concern (n): mdi quan tam
Tam dich: Urbanisation has brought both benefits and disadvantages to the small city-state. (D6
thi h6a da mang lai ca lgi ich va nhwgc diém cho qudc gia thanh ph6 nhé nay.)
— Chon dap an B
Question 22.
A. was attracting B. will attract C. attracts D. has attracted
Giai thich
Thi hién tai hoan thanh dé dién ta hanh dong xdy ra trong qua khit va kéo dai tGi hién tai. Cau sau
ho ciling dang dung thi HTHT (have helped)
Tam dich: On the one hand, Singapore has attracted a lot of skilled workers from many other
countries to ensure the economy continues to grow. (Mot mat, Singapore da thu hut rat nhiéu lao
dong cé tay nghé tir nhiéu quoc gia khac nhau dé dam béao nén kinh té tiép tuc phat trién.)
— Chondap anD
Question 23.
A. management B. leadership C. pollution D. structure
Giadi thich
A. management (n): si quan ly
B. leadership (n): sy lanh dao, kha nang lanh dao
C. pollution (n): sy 6 nhiém
D. structure (n): cau tric, két cau
Tam dich: On the other hand, urbanisation has caused some serious problems such as
deforestation, overpopulation, and waste management. (Mat khéac, do thi héa da gdy ra mot s6 van
deé nghiém trong nhu phé rirng, qua tai dan s6 va quan ly chat thai.)
— Chon dap an A
Question 24.
A. workload B. density C. usage D. product
Giadi thich
A. workload (n): khoi lwong cong viéc
B. density (n): mat do — populatio density (n): mat do dan so
C. usage (n): viéc st dung
Mgi ban dang ky tai khoan (chi 100k/ nam) tai: Giaoandethitienganh.info d€ chi dong tu tai rat nhiéu tai khac
liéu khi can!

Question 25.
A. Although B. In conclusion C. However D. Therefore

Giai thich

A. Although: Mdc du

B. In conclusion: Tém lai

C. However : Tuy nhién

D. Therefore: Do do

Tam dich: Waste treatment used to be another problem in Singapore. However, thanks to the

development of technology, this problem has been solved. Singapore has even become a leader in

urban waste management. (Xt 1y chat thai tirng la mot van dé khac & Singapore. Tuy nhién, nho

su phat trién cua cong nghé, van dé nay da dugc gidi quyét. Singapore tham chi con tré thanh

nuwdc dan dau trong linh vire quan 1y chat thai do thi.)

— Chon dap an C

Read the following passage and mark the letter A, B, C, or D to indicate the correct answer

to each of the questions from 26 to 30.

An Binh used to be a small village on the bank of the Red River. Local people mainly worked on

farms and grew their own food. Public transport was not very convenient at that time. Villagers



just went around the local area by bicycle or on foot. The only way for them to travel to another
town or city was to cross the river by boat, and then get on the train.

Their life, however, started to change in the year 2000. A bridge across the Red River was built,
connecting the village with one of the biggest motorways in the country. Since then, many local
people have migrated to big cities. The village has also attracted people to come and start a
business here. In addition, a new industrial zone has been developed. Local people and residents

of neighbouring villages have started working in the industrial zone's factories. The
infrastructure has also been improved. Clean water facilities and drainage systems have been
installed. A number of high-rise buildings have been built. Supermarkets, hospitals, and many

other facilities have also been provided.

The village has now grown into an urbanised town with a population of over 20,000 people. Life
has become easier for its residents. However, there are now some new problems. Many young
people are unemployed because they lack the necessary knowledge and skills to work in the
factories. In addition, the town is getting more and more crowded. As a result, pollution has
increased and has sparked concern among local residents and the authorities. Despite all these
concerns, the lives of An Binh's residents have generally become much better.

Question 26.

Which can best serve as the title of the passage?
A. Urbanising the Countryside
C. Modernising the Infrastructure

Giai thich

(Adapted from Global Success Workbook 12)

B. Moving to Bigger Cities
D. Caring for the Environment

Tam dich

An Binh used to be a small village on the bank
of the Red River. Local people mainly worked
on farms and grew their own food. Public
transport was not very convenient at that time.
Villagers just went around the local area by
bicycle or on foot. The only way for them to
travel to another town or city was to cross the
river by boat, and then get on the train.

An Binh tirng la mot ngoi lang nho bén bo
song Hong. Nguoi dan dia phwong chu yéu
lam n6ng va ty trong lwong thwe. Phuwong tién
giao thong cong cong thoi do khong thuan tién
lam. Dan lang chi di chuyén trong khu virc
bang xe dap hoac di bo. Cach duy nhat dé ho
di chuyén dén thi tran hodc thanh phé khac la
qua song bang thuyén, sau dé di tau hoa.

Their life, however, started to change in the
year 2000. A bridge across the Red River was
built, connecting the village with one of the
biggest motorways in the country. Since then,
many local people have migrated to big cities.
The village has also attracted people to come
and start a business here. In addition, a new
industrial zone has been developed. Local
people and residents of neighbouring villages
have started working in the industrial zone's
factories. The infrastructure has also been
improved. Clean water facilities and drainage
systems have been installed. A number of high-
rise buildings have been built. Supermarkets,
hospitals, and many other facilities have also
been provided.

Cudc song cua ho, tuy nhién, bat dau thay doi
tr nam 2000. MGt cdy cau bac qua song Hong
duoc xay dung, két ndi ng6i lang véi mot trong
nhitng tuyén dwong 1én nhat cda ca nwdc. Ké
tir do, nhiéu nguwdi dan dia phwong da di cw
dén cac thanh phd 16n. Ngbi lang cling da thu
hit nguroi dén va bat dau kinh doanh tai day.
Ngoai ra, mot khu cong nghiép méi da dugc
phét trién. Nguoi dan dia phurong va cu dan
cda cac lang 1an can da bat dau lam viéc trong
cac nha may cta khu cong nghiép. Co sd ha
tang cting dugc céi thién. Cac co s@ cung cap
nuéc sach va hé thong thoat nwdc da dugc lap
dat. Mot soO toa nha cao tang da dugc xay
dung. Siéu thi, bénh vién va nhiéu co sé khac
cling da dugc cung cap.

The village has now grown into an urbanised
town with a population of over 20,000 people.
Life has become easier for its residents.
However, there are now some new problems.

Ngoi lang gio da phat trién thanh mot thi tran
d6 thi héa vGi dan s6 hon 20.000 nguoi. Cude
song cua cu dan da trd nén dé dang hon. Tuy

nhién, hién nay c6 mot s6 van dé mai. Nhiéu




Many young people are unemployed because [thanh nién that nghiép vi ho thiéu kién thitc va
they lack the necessary knowledge and skills to ky nang can thiét dé lam viéc trong cac nha

work in the factories. In addition, the town is ay. Ngoai ra, thi tran dang ngay cang dong
getting more and more crowded. As a result, uc. Két qua 1a, 6 nhiém gia tang va gay lo
pollution has increased and has sparked gai cho cu dan dia phwong va chinh quyén.
concern among local residents and the ac cho nhitng moi lo ngai nay, cudc song cua

authorities. Despite all these concerns, the lives |cir dan An Binh nhin chung da tré nén t6t hon
of An Binh's residents have generally become [phiéu.
much better.

Dau la tiéu dé phu hgp nhat cho doan van?

A. D6 thi héa vung nong thon

B. Di chuyén dén cac thanh pho 16n hon

C. Hién dai hoa co sd ha tang

D. Cham s6c moi trvong

Thong tin:

Doan van ké vé 1 ng6i lang nho An Binh trai qua qua trinh do thi hoa cung nhitng thay doi di

kem.

— Chon dap an A

Question 27.

The word neighbouring in paragraph 2 is closest in meaning to .
A. colonial B. faraway C. reliable D. adjacent

Gidi thich

T “neighbouring” trong doan 2 c6 nghia gan nhat véi

A. thudc dia

B. xa x0i

C. dang tin cay

D. lién ké

Thong tin:

neighbouring (adj): 1an can, bén canh = adjacent

— Chon dap an D

Question 28.

According to the passage, each of the following is one of the advantages of urbanisation to An

Binh Village, EXCEPT

A. better transportation B. increasing population
C. improved infrastructure D. new job opportunities
Giadi thich

Theo doan van, moi diéu sau day la mot trong nhitng loi thé ctia qua trinh d6 thi héa déi véi lang
An Binh, TRU :

A. giao thong tot hon

B. tang dan s6

C. co sd ha tang dugc cai thién

D. co hoi viéc lam méi

Thong tin:

+ A bridge across the Red River was built, connecting the village with one of the biggest
motorways in the country. Since then, many local people have migrated to big cities. (Mot cay
cau bac qua song Hong dugc xay dung, két ndi ngdi lang véi mat trong nhitng tuyén duwong 16n
nhat cta ca nwdc. Ké tir d6, nhiéu ngwoi dan dia phwong da di cw dén cac thanh pho 16n.)

=> A ding

+ The infrastructure has also been improved. Clean water facilities and drainage systems have
been installed. A number of high-rise buildings have been built. Supermarkets, hospitals, and
many other facilities have also been provided. (Co s@ ha tang cling dwgc cai thién. Cac co sé
cung cap nudc sach va hé thong thoat nwéc da dugce lap dat. Mot s6 toa nha cao tang da dugc xay



dung. Siéu thi, bénh vién va nhiéu co s@ khac ciing da dwgc thiét 1ap.)
=> C dung
+ In addition, a new industrial zone has been developed. Local people and residents of
neighbouring villages have started working in the industrial zone's factories. (Ngoai ra, mot khu
cong nghiép mdi da dugc phat trién. Nguwdi dan dia phwong va cu dan cta cac lang lan can da bat
dau lam viéc trong cac nha may caa khu cong nghiép.)
=> D ding
+ In addition, the town is getting more and more crowded. As a result, pollution has increased
and has sparked concern among local residents and the authorities. (Ngoai ra, thi trdn dang ngay
cang dong dic. Két qua 1a, 6 nhiém da gia tang va gay lo ngai cho cu dan dia phwong va chinh
quyeén.)
=> Viéc tang dan so6 gay bat lgi, khong phai 1a 1gi thé cua do thi hoa ¢ lang An Binh
=> B sai
— Chon dap an B
Question 29.
The word they in paragraph 3 refers to .
A. the village’s residents B. over 20,000 people
C. many young people D. some new problems

Gidi thich
Tt they trong doan 3 dé cap dén .
A. cu dan cua lang
B. hon 20.000 nguoi
C. nhiéu nguoi tré
D. mot s6 van dé méi
Thong tin:
Many young people are unemployed because they lack the necessary knowledge and skills to
work in the factories. (Nhiéu thanh nién that nghiép vi ho thiéu kién thitc va ky nang can thiét dé
lam viéc trong cac nha may.)
— Chon dap an C
Question 30.
Which of the following is NOT true according to the passage?

A. Overall, the quality of life in An Binh village has improved despite some issues.

B. During the process of urbanisation, the village's infrastructure has greatly improved.

C. Many people from urban areas have moved to An Binh village since 2000.

D. In the past, An Binh villagers had to travel with difficulty to reach other regions.
Giai thich
Diéu nao sau diy KHONG diing theo doan vin?
A. Nhin chung, chat lwvgng cudc song ¢ lang An Binh da dugc cai thién mac du c6 mot s6 van de.
B. Trong qua trinh do thi hoa, co s& ha tang cua lang da dugc cai thién rat nhiéu.
C. Nhiéu ngudi ttr khu viee thanh phd da chuyén dén lang An Binh tir nam 2000.
D. Truéc day, dan lang An Binh phdi di lai khé khan dé dén cac vung khac.
Thong tin:
+ Despite all these concerns, the lives of An Binh's residents have generally become much better.
(Mdc cho nhitng mo6i lo ngai nay, cudc song ctia c dan An Binh nhin chung da tré nén tét hon
nhiéu.)
-~ A dang
+ The infrastructure has also been improved. Clean water facilities and drainage systems have
been installed. A number of high-rise buildings have been built. Supermarkets, hospitals, and
many other facilities have also been provided. (Co s& ha tang cling dugc cai thién. Cac co sé
cung cap nuwdc sach va hé thong thoat nwdc da dugce lap dat. Mot s6 toa nha cao tang da dugc xay
duwng. Siéu thi, bénh vién va nhiéu co s@ khac ciing da dugc thiét 1ap.)
- B ding



+ Public transport was not very convenient at that time. Villagers just went around the local area
by bicycle or on foot. The only way for them to travel to another town or city was to cross the
river by boat, and then get on the train. (Phuong tién giao thong cong cong thoi do khong thuan
tién lam. Dan lang chi di chuyén trong khu virc bang xe dap hodc di bo. Cach duy nhat dé ho di
chuyén dén thi trdn hodc thanh phé khéc la qua sdng bang thuyén, sau do di tau hda.)
-~ D dung
+ Their life, however, started to change in the year 2000. A bridge across the Red River was built,
connecting the village with one of the biggest motorways in the country. Since then, many local
people have migrated to big cities. (Cudc song cia nhitng nguwdi dan & lang An Binh, tuy nhién,
bat dau thay doi tir nam 2000. Mot cdy cau bac qua song Hong dugc xay dung, két noi ngoi lang
nay vGi mot trong nhitng tuyén duwong 16n nhat cia ca nwde. Ke tir dd, nhiéu ngwoi dan dia
phuong lang An Binh da di cw dén cac thanh phé 16n.)
— Chon dap an C

Moi ban dang ky tai khoan (chi 100k/ nam) tai: Giaoandethitienganh.info d€ cha dong tu tai rat nhiéu tai khac

liéu khi can!



